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I. Reading Comprehension, Grammar, and Vocabulary
Velleius Paterculus describes the decline of Roman valor and values after the Punic War
1	Potentiae Rōmānōrum prior Scīpiō viam aperuerat, luxuriae posterior aperuit:
2	quippe remōtō Carthāginis metū sublātaque imperiī aemula nōn gradū, sed praecipitī 3	cursū ā virtūte dēscītum, ad vitia trānscursum; vetus disciplīna dēserta, novā inductā; 4	in somnum ā vigiliīs, ab armīs ad voluptātēs, ā negōtiīs in ōtium conversā cīvitās.     
5		Tum Scīpiō Nāsīca in Capitōliō porticūs, tum, quās praedīximus, Metellus,   6	tum in circō Cn. Octāvius multō amoenissimam mōlītī sunt, pūblicamque                 7	magnificentiam  secūta prīvātā luxuriā est. 
8		Trīste deinde et contumēliōsum bellum in Hispāniā duce latrōnum Viriāthō  9	secūtum  est: quod ita varia fortūna gestum est, ut saepius Rōmānōrum gererētur    10	adversa. Sed interēmptō Viriāthō fraude magis quam virtūte Servīliī Caepōnis        11	Numantīnum gravius exārsit. 
Glosses:
aemula, ae, f.	    =	rival				   vitium, vitii, n.   =	fault, flaw, defect
gradus, us, m.	    =	step, degree			   amoenus,a,um    =	charming, pleasant	
descitus, a, um	    =	having been turned away from  interemptus, a, um	=  death

1.	The best translation of potentiae in line 1 is
(A)  of power			(B)  for power		(C)  by the power	(D)  the powers

2.	prior and posterior in line 1 refer to
(A)  potential			(B)  Romanorum	(C)  Scipio		(D)  viam

3.	When did Rome begin her decline into luxury and corruption?
(A)  from the very beginning				(C)  after the Punic Wars
(B)  when both Scipios were in charge		(D)  toward the end of the Republic

4.	Line 2 contains an example of a(n)
(A)  ablative absolute  	(B) gerundive  	(C)  supine		(D)  passive infinitive


5.	praecipiti in line 2 refers to
(A)  Romani			(B)  gradu		(C)  cursu		(D)  virtute

6.	vitia in line 3 is in the ______ case.
(A)  nominative		(B)  accusative		(C)  ablative		(D)  vocative

7.	What word could be added to line 3 without changing the sentence?
(A)  in				(B)  multum		(C)  fertur		(D)  est

8.	The preposition in in line 4 is best translated_____
(A)  into			(B)  in			(C)  against		(D)  on

9.	The tense of conversa in line 4 is _____
(A)  present			(B)  imperfect		(C)  future		(D)  perfect

10.	The figure of speech found in line 4 is a(n)____
(A)  hendiadys			(B)  anaphora		(C)  tricolon crescens	(D)  zeugma

11.	The nominative subject in line 4 is _____
(A)  somnum			(B)  voluptates		(C)  otium		(D)  civitas

12.	Lines 5-7 describe examples of
(A)  extravagant festivals	(B)  incredible greed	(C)  public works	(D)  lavish homes

13.	The case of porticus in line 5 is _______
(A)  accusative		(B)  ablative		(C)  genitive		(D)  nominative

14.	multo in line 6 is an ablative of _____ and pairs with _____
(A)  specification, circo				(C)  manner, Octavius
(B)  accompaniment, Octavius			(D)  degree of difference, amoenissimam

15.	triste in line 8 describes
(A)  contumeliosum		(B)  bellum		(C)  Hispania		(D)  duce

16.	The case of latronum in line 8 is _____
(A)  nominative		(B)  genitive		(C)  dative		(D)  accusative

17.	Line 8 contains a(n)
(A)  indefinite pronoun				(C)  dative of agent
(B)  complementary infinitive  			(D)  ablative absolute

18.	According to Velleius, what is the base meaning of latronum?
(A)  bathrooms		(B)  secrets		(C)  robbers		(D)  tax-collectors

19.	Velleius felt the wars in Spain were _____
(A)  glorious			(B)  shameful		(C)  necessary		(D)  profitable
20.	What is the best translation of saepius (line 9)?
(A)  often			(B)  more often	(C)  most often	(D)  none of these

21.	fraude and virtute in line 10 are both what types of ablatives?
(A)  means/instrument		(B)  quality		(C)  manner		(D)  source

22.	When did war break out in Numantia?
(A)  when Viriathus was removed as leader		(C)  when Viriathus died
(B)  when Viriathus demonstrated his courage	(D)  when Viriathus devised a ruse

23.	According to Velleius, Numantia _______
(A)  was a little more than 10 miles from the city	(C)  was full of armed youths
(B)  was not previously a great military power	(D)  was burned by Servilius Caepio

II. Latin Derivatives
24. Choose the English word which does not share the same root as the others.
(A) circumference	 (B) correlate	 (C) effervescent	 (D) vociferous 
25. Choose the English word which does not share the same root as the others.
(A) cervix	 	 (B) cervine	 (C) cervicorn		 (D) serval 
26. Which English word derives from the Latin word meaning “heart?” 
(A) court		 (B) curtsey	 (C) courage		 (D) cohort 
27. Choose the English meaning of the Latin root of the word “colloquium.” 
(A) eat			 (B) speak 	 (C) hear		 (D) share 
28. Choose the English word which does not share the same root as the others. 
(A) incarnate		 (B) carnival 	 (C) carnage 		 (D) carouse 
29. What is the root of the English noun “renaissance?” 
(A) reor 		 (B) aio 	 (C) nascor 		 (D) nox 
30. What is the meaning of the Latin word at the root of “aquiline?” 
(A) eagle 		 (B) straight 	 (C) water 		 (D) clear 
31. What is the meaning, based on its derivation, of the English word “mordant?” 
(A) morbid		 (B) political	 (C) biting 		 (D) quiet


III. Mottoes & Abbreviations
32. Which state does not have a Latin motto?
(A) Arizona 		(B) Arkansas	 (C) Alaska 		(D) Alabama

33. Which abbreviation means “from the library of”? 
(A) cf.			(B) ex lib.	 (C) i.a. 		(D) ex. off. 

34. Which university in Texas has the motto Prō Ecclēsiā, Prō Texānā? 
(A) Baylor University 		(B) Texas Christian University
(C) University of Houston		(D) Rice University 

35. What is the motto of the University of Oxford
(A) Lux Hominum Vita 		(B) Mihi Cura Futuri
(C) Terras Irradient 			(D) Dominus Illuminatio Mea 

36. Which phrase is translated as ‘by spoken word’? 
(A) Verbatim 		(B) Viva voce (C) Vox Populi 	(D) Dictum, factum

37. In which of his works, did Vergil write “labor omnia vincit”? 
(A) Georgics 		(B) Eclogues 	(C) Aeneid		 (D) Moretum 

38. Who wrote “in medio tutissimus ibis”? 
(A) Cicero 		(B) Vergil	(C) Catullus 		 (D) Ovid

IV. Mythology
39. Who was the Roman god of beginnings and endings? 
(A) Jupiter 		(B) Bellona 	(C) Janus 		 (D) Faunus 

40. What hero went on a quest to find the Golden Fleece? 
(A) Jason 		(B) Achilles 	(C) Perseus 		(D) Theseus 

41. What Trojan chieftain journeyed from Troy to Italy in order to found the Roman race after the fall of Troy? 
(A) Paris 		(B) Antenor 	(C) Aeneas 		(D) Anchises 

42. Who was Cupid’s wife? 
(A) Venus 		(B) Psyche 	(C) Ariadne 		(D) Hebe 

43. In what town did Hercules face a lion with almost impenetrable skin? 
(A) Lerna 		(B) Crete 	(C) Erymanthia 	(D) Nemea 



44. What Babylonian lovers killed themselves when their rendezvous at the tomb of Ninus was interrupted by a lioness? 
(A) Baucis and Philemon 		(B) Nisus and Euryalus
(C) Hero and Leander 		(D) Pyramus and Thisbe 

45. Which of the following is not a river god? 
(A) Idomeneus 	(B) Peneus 	(C) Inachus 		(D) Acis 

46. Which of the following is not a fury? 
(A) Euryale 		(B) Tisiphone 	(C) Allecto 		(D) Megaera

V. Latin Literature
47. He wrote comedies like Pseudolus and Miles Gloriosus that influenced Shakespeare and Sondheim.
(A) Terence		(B) Plautus 	(C) Seneca the Younger	(D) Vergil 

48. He was Rome’s most famous orator, giving speeches such as In Verrem and In Catilinam. 
(A) Caesar 		(B) Cicero 	(C) Quintilian 		(D) Pliny the Younger 

49. He wrote poetry to a woman he called Lesbia, saying “odi et amo” and “da mi basia mille.” 
(A) Tibullus		 (B) Catullus 	(C) Propertius		(D) Horace 

50. He is considered Rome’s greatest epic poet and was also Horace’s best friend.
(A) Lucan 		(B) Seneca 	(C) Ovid 		(D) Vergil 

51. He got in trouble for marrying a woman named Pudentilla and therefore had to deliver Apologia. 
(A) Silius Italicus 	(B) Statius 	(C) Apuleius 		(D) Quintilian 

52. Born in Spain, he wrote De Re Rustica, citing Cato the Elder and Varro as sources. 
(A) Lucan 				(B) Seneca the Younger
(C) Seneca the Elder 			(D) Columella 

53. He wrote both Thebaid and Achilleid. 
(A) Silius Italicus 	(B) Juvenal	 (C) Statius 		(D) Lucan 

54. He did NOT write satire. 
(A) Ennius		(B) Horace	 (C) Lucilius 		(D) Laberius 

55. He wrote Ars Amatoria resulting in his exile to Tomi. 
(A) Ovid		(B) Apuleius 	(C) Seneca the Younger	(D) Lucan 

56. A bishop of Hippo Regius and a fan of Vergil’s Aeneid, this early Christian writer wrote De Civitate Dei. 
(A) Lactantius 	(B) Boethius 	(C) Augustine 		(D) Tertullian

VI. Roman History

57.  Who was Rome’s last king?  
(A) Romulus 			(B)  Tarqinius Priscus  
(C)  Tullus Hostilius  		(D)  Tarquinius Superbus

58.  What lake did the Romans call Lacus Lemannus?   	
(A)  Como   		(B)  Geneva	(C)  Trasimene   	(D)  Avernus

59.  With what nymph did Numa Pompilius consort?
(A) Ocrisia		(B)  Tanaquil	(C)  Egeria		(D)  Juturna

60.  Where did the Romans suffer a disastrous defeat in 321 B.C.?
(A)  Lautulae		(B)  Sentinum	(C)  Asculum		(D) Caudine Forks

61.  Under the auspices of what emperor were the following constructed in Rome:  a Pantheon, an imperial mausoleum along the Tiber, a sundial, an arch in the Forum, and an altar to Peace?
(A)  Hadrian		(B) Augustus	(C)  Titus		(D)  Domitian

62.  What was the year of the first plebian secession?
(A)  494 B.C.		(B)  396 B.C. 	(C)  449 B.C. 		(D)  445 B.C.

63.  After what battle did Caesar order the right hands of all the Gauls who fought in it to be cut off?
(A)  Alesia		(B)  Uxellodunum	(C)  Gergovia	(D)  Avaricum

VII. Roman Life
64. What praenomen did the Romans abbreviate C.? 
(A) Cestius 	(B) Cicero	(C) Callimachus	 (D) Gaius 

65. What toga was assumed by a boy when he came of age (between 14 and 17)? 
(A) toga praetexta 	(B) toga virilis		 (C) toga picta 		(D) toga pulla 

66. According to Vitruvius, what type of atrium had its roofs slanted outward, away from the impluvium so that less water fell into the impluvium? 
(A) atrium Tuscanicum	(B) atrium tetrastylon
(C) atrium testudinatum 	(D) atrium displuviatum 

67. Which of these was not a part of tyrotarichus? 
(A) fish 	(B) eggs 	(C) cheese 	(D) all of these were ingredients in tyrotarichus 

68. What type of wagon was used to carry the spoils of war in a triumphal procession? 
(A) pilentum 	(B) petoritum 	(C) cisium 	(D) raeda 


69. What is the Latin term for the regular rows of trees on a farm used for the training of vines? 
(A) cohors 	(B) ergastulum 	(C) arbustum 		(D) xystus 

70. What was the Latin term for a grave-pit in which the Romans buried the poor? 
(A) puticulus 	(B) cepotaphium 	(C) cenotaphium 	(D) ustrina 

71. What part of the aqueduct was the fistula? 
(A) Distributing reservoirs in the city 
(B) Lead pipe that carried water to the houses 
(C) Bridges that maintained a regular slope of the water over uneven terrain 
(D) Collector for the water at the source

72. Before bathing at the thermae, a bather would undress in the ____
(A)  hypocaustum		(B)  caldarium		(C)  balneum		(D)  apodyterium

VIII. Ancient Geography
73. Into how many districts (regiones) did Augustus divide Rome? 
(A) 3 	(B) 7 	(C) 12	 (D) 14 

74. Which forum was located adjacent to the bank of the Tiber River? 
(A) Forum Romanum 		(B) Forum Julium 	(C) Forum Boarium 	(D) Forum Ulpium
 
75. Which forum contained the Temple of the Divine Julius Caesar? 
(A) Forum Romanum 		(B) Forum Julium 	(C) Augustus’ Forum (D) Forum Ulpium 

76. In whose forum was the temple of Mars Ultor? 
(A) Julius Caesar 	(B) Augustus	 (C) Nerva	 (D)Trajan

77. Which of these roads did not run through the Forum Romanum and instead connected the saltflats of the Tiber to the Adriatic Sea? 
(A) Via Nova 		(B) Clivus Capitolinus 	(C) Via Sacra 		(D) Via Salaria 

78. Which of these men did not have a basilica bearing his name in the Forum Romanum? 
(A) Julius Caesar 	(B) Maxentius 	(C) Septimius Severus	 	(D) Aemilius Paullus 

79. What was the name of the headquarters of the Pontifex Maximus, located just next to the Temple of Vesta? 
(A) Tabularium 	(B) Regia 	(C) Cloaca Maxima 	(D) Lapis Niger 

80. Which temple was not in the Forum Romanum? 
(A) Castor and Pollux 	(B) Saturn 	(C) Venus Genetrix 	(D)Vesta




IX. Tie-Breakers
96. What Stoic astronomer wrote an Astronomica in five books of hexameters in the first century A.D.? 
(A) Ovid 	(B) Hyginus 	(C) Manilius 	(D) Celsus
97. Who inherited the poison-tipped arrows of Herakles?
(A)  Dolon	(B)  Philoctetes 	(C)  Diomedes		(D)  Neoptolemus
98.  Which verb supplies passive forms for facio?  
(A) ago   	(B) eo  		(C)  fio   		(D)  conficio
99. Which university does not have a motto containing the word “veritas”?
(A) Johns Hopkins University 	(B) University of Michigan
(C) University of Oregon 		(D) Yale University
100. Which of the following was not raped by Zeus?
(A) Hebe 	(B) Antiope	 (C) Io 		(D) Callisto
